Sr Questions Answers Choice

A. C.G.S System

B. Sexagesimal system
C. M.K.S.System

D. circular system

1 The system of measurement in which angle is measured in radian is called.

A. A Radian
B. A Minute
C. Adegree
. An angle

2 The union of two noncollinear rays, which have common end point is called.

Sin6
Cosf
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3 Sin28 + Cos20 =

13
V3
172
2

4 Cot 60°=

30<sup>o</sup>

135<sup>o</sup>
180<sup>o</sup>
270<sup>o</sup>

5 3m/2 Radian =

-Sec 60<sup>o</sup>
Sec 60<sup>o</sup>
Cos60<sup>o</sup>
. Cot 60<sup>o</sup>

6 Sec (-600)=........ccovun..

. Sin310<sup>o</sup>
-Sin310<sup>o</sup>
Cos310<sup>o</sup>
. tan310<sup>o0</sup>

7 Sin (-3109) = .oovvvoe

Il
8 Angles between 0° and 90° are to which quadrant?

1\

9 Angles between 180° and 270° are to which quadrant?

10 tanB,cotf=.......c.ccevveunnnen.

11 C0s6,SeCh = ....coeeuveeieen,

12 SinB,Cosect =........cccceeevvereennnne. Sing

Cos 6

30<sup>o</sup>
45<sup>o</sup>
60<sup>o</sup>
90<sup>o</sup>

13 Which is one is a quadrantal angel?

14 Fundamental trigonometric ration are.
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15 In which quadrate all trigonometric ration are positive?
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